@mg Sy Multiplicér decimaler med ti

Navn: Dato:___ Score:____
7,469 x 100 = 4,558 x 100 =
6, 872 x 10000 = 9,734 x 100 =
3,601 x 10000 = 9,25 x 100000 =
8, 118 x 100000 = 3,96 x 100 =
10,42 x 100 = 9,476 x 1000000 =
8, 858 x 10000 = 1,783 x 10 =
8, 05 x 1000000 = 4,002 x 10 =
7,658 x 10 = 10, 824 x 10 =
3,619 x 100000 = 10,942 x 1000 =
2,043 x 10 = 3,665 x 100 =
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Multiplicér decimaler med ti

Navn:

7,469 x 100 = 746.9

6, 872 x 10000 = 68720

3,601 x 10000 = 36010

8, 118 x 100000 = 811800

10,42 x 100 = 1042

8, 858 x 10000 = 88580

8, 05 x 1000000 = 8050000

7,658 x 10 = 76.58

3,619 x 100000 = 361900

2,043 x 10 =20.43

Dato:

4,558 x 100 = 455.8

9,734 x 100 =973.4

9,25 x 100000 = 925000

3,96 x 100 = 396

9,476 x 1000000 = 9476000

1,783 x 10 =17.83

4,002 x 10 =40.02

10, 824 x 10 = 108.24

10,942 x 1000 = 10942

3,605 x 100 = 366.5
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